1 2 3
TP n (PCA to beamline)

x107°

< o cot(y) >
o
=
a1

o
TIT [T T [ TI [T T T[T I [T T[rrrT

S

T

|t

N N

-1 0 1 2 3
TP n (PCA to beamline)

—— DQM_V0001_R000000001__Global_mKkFt10000__
—— DQM_V0001_R000000001__Global__mkFit1000__|
—— DQM_V0001_R000000001__Global__mkFit1000ATime_ RECO

RECO
RECO

=
o

< 00, > (M)
(@)

-10

{

+ +++++ +#*#"# a"o ¥, MM" + WH'H ++

P

14444 .mfu L xr’-*‘fﬁ-* 14 T |+ 4

TR

=3 -2 -1 0 1 2 3

TP n (PCA to beamline)

S : 5
; s s
D_)— 4 ......-........a: ......................... :. .......
- : :
o . .
[e] N .
T HR S S S s
2 ------------------------- ------
) U SO O N NS o
. : - 4
- : T
o AN bt i
o wodk [ |
B i i
4 : :
1 beitt Rt i i
R R Y 1 2 3

TP n (PCA to beamline)

g 100

-1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


